
 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Supplementary Semester Examination – Winter 2023 

Course: B. Tech.        Branch : Computer Engineering and Allied        Semester : VI 

Subject Code & Name: BTCOC601_Y23-  Compiler Design 

Max Marks: 60         Date: 16/01/2024            Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve any Two of the following.    

A) What is a compiler? Draw a neat diagram and explain different phases of 

compiler. 

(Remembering) 6 

B) Define patterns, lexeme, and tokens. Explain lexical errors with examples. (Remembering) 6 

C) i) In a string of length n, how many prefixes, suffixes, and proper prefixes 

are there? 

ii) Write regular definitions for the following languages: 

1. All strings of lowercase letters that contain the five vowels in order. 

2. All strings of lowercase letters in which the letters are in ascending 

lexicographic order. 

  

(Analyzing) 6 

    

Q.2 Solve any Two of the following.    

A) Give the significance of input buffering and sentinel in lexical analysis. (Remembering) 6 

B) List the tokens and their types in the following C++ code fragment. 

float limited_square(x) {float x; 

/* returns 100 or x-squared */ 

                   return(x <= -10.0 || x >= 10.0)?100 : x*x; } 

(Applying) 6 

C) Explain with flow diagram how lexical analyzer is created with Lex. Write a 

Lex program for counting words, lines, and characters in a paragraph / 

document file. 

(Remembering) 

(Analyzing) 

6 

    

Q. 3 Solve any Two of the following.    

A) With neat diagram describe the role of parser. (Remembering) 6 

B) What is left recursion? Eliminate the left recursion from the following 

grammar: 

E  E+T | T 

T  T*F | F 

F  (E) | id 

(Remembering) 

(Applying) 

6 



C) Compute FIRST and FOLLOW and also construct the predictive parsing 

table for the following grammar:  

S  +SS | *SS | a 

(Applying) 6 

    

Q.4 Solve any Two of the following.   12 

A) For the SDD given below, give annotated parse tree for the expression 

3*5+4 

 

(Applying) 6 

B) Consider following SDT to generate Three Address Code. Give Three 

Address Code for the expression a+b*c: 

 

(Analyzing) 6 

C) Explain Syntax Tree and DAG as intermediate code representations. 

Construct the DAG and identify the Value Numbers for the subexpression      

a+b+(a+b)  assuming + associates from the left. 

(Remembering) 

(Applying) 

6 

    

Q. 5 Solve any Two of the following.    

A) List the issues in designing code generator. Generate code for the following 

three-address statements assuming all variables are stored in memory 

locations. 

x = b * c 

y = a + x 

(Remembering) 

(Applying) 

6 

B) Define basic block and flow graph. Give basic blocks and flow graph for the 

following sequence of three address code statements: 

(Remembering) 

(Applying) 

6 



 

C) Explain with examples the following concepts with respect to code 

optimization: 

i) Common subexpression elimination. 

ii) Dead-code elimination. 

iii) Algebraic transformations. 

(Remembering) 6 

 *** End ***  

The grid and the borders of the table will be hidden before final printing.    



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Supplementary Winter 23 

Course: B. Tech.Branch : Computer Engineering and Allied Semester : VI 

Subject Code & Name: BTCOC601_Y20 -Compiler Design 

Max Marks: 60 Date: 16/01/2024 Duration: 3 Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 
2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 
4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.  12 

A) Draw a neat diagram and explain different phases of compiler. Remembering 6 

B) What do you understand by "Input Buffering"? Explain 'Buffer pairs' and 

sentinels. 

Remembering 6 

C) List out and explain different compile-construction tools. 

 

Analyzing 6 

Q.2 Solve Any Two of the following.  12 

A) What is a finite automata? Construct transition diagram of a DFA for 

the string (a+b)
* . 

 

Applying 6 

B) What is Lex? Explain.  

 

Applying 6 

C) Give the formal definition of Context-Free Grammar. Analyzing 6 

 Q.3 Solve Any Two of the following.  12 

A) What is Parse Tree? Explain with example. 

 

Remembering 6 

B) What is LL(1) Grammar? Remembering 6 

C) Explain Bottom-Up parsing. 

 

Applying 6 

Q.4 Solve Any Two of the following.  12 

A) What is Syntax-Directed Definition? Understanding 6 

B) Explain type checking in detail. Analyzing 6 

C) What is Symbol Table? Explain the organization of symbol table in detail. Applying 6 

Q.5 Solve Any Two of the following.   

A) Define the DAG representation of basic blocks.  Applying 6 

B) Explain the various storage allocation strategies?   

 

Applying 6 

C) What is syntax directed translation in compiler design?  Undestanding 6 

 *** End ***  



The grid and the borders of the table will be hidden before final printing. 



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Summer Examination – 2023 

Course: B. Tech.Branch : Computer Science & Engineering         Semester : VI 

Subject Code & Name: BTCOC601     -    Compiler Design 

Max Marks: 60         Date:12/07/2023     Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) Draw a neat diagram and explain different phases of compiler. 

Differentiate between Interpreter, Compiler and Hybrid compiler. 

Remembering 6 

B) Define token, pattern, and lexeme with suitable examples. Find tokens, 

pattern and lexemes forthe following C- program. Give reasonable at-

tribute values for the tokens. 

int main() 

{ 

int a = 10, b = 20; 

printf (“Sum is : %d”, a+b); 

return (0) 

} 

Remembering 6 

C) i) Explain regular expression and regular definition with example. 

ii) Write regular definitions for the following languages: 

1. All strings of lowercase letters that contain the five vowels in 

order. 

2. All strings of lowercase letters in which the letters are in 

ascending lexicographic order. 

 

Analyzing 6 

Q.2 Solve Any Two of the following.   12 

A) Explain the two buffer input scheme for scanning the source program in 

lexical analyzer? How the use of sentinels can improve its performance? 

Remembering 6 

B) i) Explain the role of finite automata in lexical analyzer and differentiate  

between NFA and DFA. 

ii) Convert the following regular expression to NFA using Thompson 

Construction algorithm. 

(a|b*ab)* 

Applying 6 

C) Convert the following NFA to DFA using subset construction algorithm. 

((01| 0) 1*)* 

Remembering 

Analyzing 

6 

Q.3 Solve Any Two of the following.   12 



A) i) What is left recursion and left factoring? 

ii) Consider the CFG    SSS+| SS* | a 

a) Left factor this grammar. 

b) Eliminate the left recursion from the original grammar. 

c) Is the resulting grammar suitable for top-down parsing? 

Remembering 6 

B) What is the difference between recursive–descent parsing and predictive 

parsing?Draw and explain  the  model of non recursive predictive parser. 

Remembering 

Applying 

6 

C) What is LL(1) grammar? Construct a LL(1) parsing table for the 

following  grammar. Test whether following grammar isLL(1). 

S → aAB|bA|є 

    A → aAb |є 

    B → bB |c 

Applying 6 

Q.4 Solve Any Two of the following.  12 

A) Explain stack implementation of shift reduce parsing with their four 

possible actions.    

Consider the following grammar    

S → TL   

T → int | float  

L → L,id | id    

Parse the input string int id, id  using shift – reduce parser.    

 

Understanding, 

Applying 

6 

B) i) Differentiate between LR(0) and LR(1) grammar with suitable 

example.    

ii)What is handle? Consider the following grammar and show the handle 

of each right sentential form for the   string ( a ,( a , a )).  

S→ (L)|a  

L → L ,S |S  

Applying 

Analyzing 

6 

C) Show that following grammar is LL(1) but not SLR(1).  

S→ AaAb | BbBa 

A →є 

B→є 

Applying 6 

Q.5 Solve Any Two of the following.   

A) For the SDD given below, give annotated parse tree for the expression 

3*5+4 

Applying 6 



 

B) List the issues in designing code generator. Generate code for the 

following three-address statements assuming all variables are stored in 

memory locations. 

x = b * c 

                  y = a + x 

Applying 6 

C) Define basic block and flow graph. Give basic blocks and flow graph for 

the following sequence of three address code statements: 

 

Remembering 

Understanding 

6 

 *** End ***  

The grid and the borders of the table will be hidden before final printing.    





  

  

    

                                                                                                                                                                

Max Marks: 60         Date: 18/01/2024                    Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) What is a computer network? Enlist four uses of computer network. CO1 

Understand 
6 

B) Explain network software with respect to protocol hierarchy and design 

issues for layer. 

CO1 

Understand 
6 

C) State and explain the functionalities of all layers in ISO-OSI Model. CO1 

Understand 
6 

Q.2 Solve Any Two of the following.   12 

A) Explain in brief 802.11 architecture and protocol stack. CO2 

Understand 

6 

B) Write a short note on 

i)Bluetooth Architecture ii)RFID Technology  

CO2 

Application 

6 

C) State and explain Bluetooth Architecture CO2 

Understand 

6 

Q. 3 Solve Any Two of the following.   12 

A) What is framing in network? Explain byte stuffing framing techniques 

with suitable example. 

CO3 

Understand 

6 

B) Illustrate the service provided to the network layer by the data link layer. CO3 

Understand 

6 

C) Describe Error Detection and Correction. CO3 Apply 6 

Q.4 Solve Any Two of the following.   12 

A) Illustrate the service provided to the network layer by the data link layer. CO4 

Understand 
6 

B) What is Quality of Service? Mention various factors of QOS.  CO4 

Apply 
6 

C) Compare IPV4 / IPV6 protocols. CO4 

Apply 
6 

Q. 5 Solve Any Two of the following.   12 

A) What is cryptography? Explain the working principle of public key 

cryptography with suitable diagram. 

CO5 

Understand 
6 

B) Write a short note on 

DNS 2) DDNS 

CO5 

Application 

6 

C) Compare FTP and TFTP protocols. CO5 

Apply 

6 

 *** End ***  

The grid and the borders of the table will be hidden before final printing.    

DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

  Supplementary  Winter  Examination  –  2023

Course:  T.Y.B.  Tech.  Branch :  Computer Science & Engineering/CE  Semester :  6th

Subject Code & Name:  Computer Network BTCOC602_Y23



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

Supplementary Winter 23

Course: B. Tech.

Subject Code & Name:

Max Marks: 60

Instructions to the Students:
1. All the questions are compulsory.
2. The level of question/expected answer as per OBE or the Course Outcome (CO) on

which the question is based is mentioned in ( ) in front of the question.
3. Use of non-programmable scientific calculators is allowed.
4. Assume suitable data wherever necessary and mention it clearly.

(Level/CO) Marks

Q. 1 Solve Any Two of the following. 12

A) Explain Network software in detail? L2/CO1 6

B) Write short note on various high speed network Technology L2/CO1 6

C) Explain Type of computer network L2/CO1 6

Q.2 Solve Any Two of the following. 12

A) What is FDDI? Draw and explain the frame format of FDDI. L2/CO2 6

B) Explain in brief WiFi 802.11. Also explain working principle of WiFi 802.11 L2/CO2 6

C) Draw and Explain Ethernet frame format. L3/CO2 6

Q. 3 Solve Any Two of the following. 12

A) A 7 bit Hamming code received as 1011011. Assume even parity and state

whether the received code is correct or wrong, if wrong locate the bit in

error?

L3/CO3 6

B) Consider the data unit to be transmitted is-

10011001111000100010010010000100

Consider 8 bit checksum is used..

L3/CO3 6

C) What is hamming distance? Explain with example L2/CO3 6

Q.4 Solve Any Two of the following. 12

A) Draw and explain IV4 Header format L2/CO4 6

B) Write Berkeley Socket primitive L2/CO4 6

C) From IP Address 222.151.210.34 find out its class , Network ID , Host ID L3/CO4 6
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Q. 5 Solve Any Two of the following. 12

A) What do you mean of digital Signature? Define the following Term.
1)Symmetric and
Asymmetric key
cryptography
2)Public key
3)private key
4)Authentication
5)Integrity

L2/CO5 6

B) Explain SMTP &amp; POP Protocol L2/CO5 6

C) Difference between persistence and non- persistence HTTP protocol L2/CO5 6

*** End ***

The grid and the borders of the table will be hidden before final printing.



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Summer Examination – 2023 

Course: T.Y.B. Tech.               Branch :Computer Engineering            Semester :VI 

Subject Code & Name:  Computer Network   (BTCOC602)                                                                        

Max Marks: 60         Date:              Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) 

on which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) Explain network software with respect to protocol hierarchy and design issues for layer. CO1 Understand 6 

B) Explain ISO-OSI reference model with diagram. CO1 Understand 6 

C) Compare connection oriented and connectionless protocol. CO1 Understand 6 

    

Q.2 Solve Any Two of the following.   12 

A) Explain in brief 802.11 architecture and protocol stack. CO2 Understand 6 

B) Write a short note on 

1. Packet Switching, 2.Message Switching, 3.Circuit Switching. 

CO2 Application 6 

C) State and explain Bluetooth Architecture. CO2 Understand 6 

    

Q. 3 Solve Any Two of the following.   12 

A) What is framing in network? Explain byte stuffing framing techniques with suitable 

example. 

CO3 Understand 6 

B) Illustrate the service provided to the network layer by the data link layer. CO3 Understand 6 

C) Describe Error Detection and Correction. CO3 Apply 6 

    

Q.4 Solve Any Two of the following.   12 

A) What is socket? Explain various socket primitives used in client-server interaction. CO4 Understand 6 

B) What is Quality of Service? Mention various factors of QOS.  CO4 Apply 6 

C) Compare IPV4 / IPV6 protocols. CO4 Apply 6 

    

Q. 5 Solve Any Two of the following.   12 

A) What is cryptography? Explain the working principle of public key cryptography with 

suitable diagram. 

CO5 Understand 6 

B) Write a short note on        1) DNS        2) DDNS CO5 Application 6 

C) Compare FTP and TFTP protocols. CO5 Apply 6 

 *** End ***  

   







 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Winter Examinations 2023 

Course: B. Tech.   Branch :   Computer Science & Engineering             Semester :VI 

Subject Code & Name:   Computer Network (BTCOC602)                                                                                        

Max Marks: 60         Date:     Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All Questions are Compulsory. 

2. Draw neat diagram wherever necessary.  

3. Figures to right indicates full marks 

4. Assume suitable data wherever necessary and mention it clearly 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.    

A) Describe social issues with computer network? (Understand) 06 

B) Give comparison between OSI reference model and TCP/IP model? (Understand) 06 

C) Compare connectionless and connection oriented protocol?  (Understand) 06 

    

Q.2 Solve Any Two of the following.    

A) Discuss Wi-MAX (802.16) and Bluetooth (802.15.1) technology application 

in real life? 

(Understand) 06 

B) Compare token ring and FDDI with their frame format? (Understand) 06 

C) Describe in brief 802.11 architecture and protocol stack? (Understand) 06 

    

Q. 3 Solve Any Two of the following.   

A) Illustrate byte count and bit stuffing framing method?    (Apply) 06 

B) A (7,4) hamming code is received as 1110000. Determine the correct code 

when even parity is considered.? 

       (Apply) 06 

C) Justify how CRC is a stronger kind of error-detecting code. 

msg – 1 1 0 1 1 0 1 0 0 0 0   gen- 1 0 1 0 1 , Calculate CRC for the given 

data input? 

(Analyze) 06 

    

Q.4 Solve Any Two of the following.    

A) Compare IPv4 and IPv6 address formats? (Understand) 06 

B) Describe the following congestion control mechanisms with suitable 

example.       

1. Traffic Throttling       2. Load Shedding  

(Understand) 06 

C) Illustrate with example leaky bucket and token bucket algorithms for traffic 

shaping? 

(Understand) 06 

    

Q. 5 Solve Any Two of the following.   

A) Describe five tuple DNS record with an example? 

 

(Understand) 06 

B) Compare SMTP and POP Protocols? (Understand) 06 



C) Illustrate the network security essentials Confidentiality, Authentication, 

Non repudiation and Integrity control for considering the E-commerce 

website? 

(Apply) 06 

 *** End *** 

 



  

  

Course: B. Tech.        Branch : Computer Science And Design        Semester : Fifth 

Subject Code & Name:  Computer Networks (BTCSD503)                                                                                    

Max Marks: 60              Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) Differentiate between TCP/IP and OSI Model C01 6 

B) Write a note on Smart NIC C01 6 

C) Explain different Network Connecting devices C01 6 

    

Q.2 Solve Any Two of the following.   12 

A) Explain in detail Hamming Code with suitable example. C02 6 

B) Write a note on Stop and Wait protocol C02 6 

C) Describe different services provided by Network Layer C02 6 

    

Q. 3 Solve Any Two of the following.  CO3 12 

A) Differentiate between Fast Ethernet, Gigabit Ethernet. CO3 6 

B) Explain Random Access Protocols with its types. CO3 6 

C) Write a short note on CSMA  6 

    

Q.4 Solve Any Two of the following.   12 

A) Differentiate between IPv4 and IPv6 protocol CO4 6 

B) Given the network address 17.0.0.0, find the class, the block, and the range 

of the addresses. 

CO4 6 

C) Explain following terms : Unicast, Anycast, Multicast CO4 6 

    

Q. 5 Solve Any Two of the following.   12 

A) Describe DHCP, DNS and SMTP protocol. CO5 6 

B) Explain different services provided by Transport Layer CO5 6 

C) Differentiate between TCP and UDP protocol CO5 6 

 *** End ***  

     

DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
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Date:05-01-24



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Supplementary Winter Examination - 2023 

Course: B. Tech.         Branch :   Computer Engineering/Computer Science & Engineering 

Semester : VI 

                                                                                 

Max Marks: 60         Date:25/01/2024                             Duration: 3 Hrs.  

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.    

A) Describe, why humanitarian engineering is important? Remember 6 

B) Define development engineering with its goal? Understand 6 

C) Explain, why development engineering is necessary? Understand 6 

Q.2 Solve Any Two of the following.    

A) Explain the role of Engineer in society? Understand 6 

B) What is the main reason of poverty in India? Remember 6 

C) Explain the Human Development Index (HDI) in detail. Understand 6 

Q. 3 Solve Any Two of the following.    

A) Explain how inequality affects society? Remember 6 

B) Define public reasoning and explain why it is important to justice. Understand 6 

C) Explain in detail Concept of Social Justice? Analysis 6 

Q.4 Solve Any Two of the following.    

A) Describe the global health challenges? Understand 6 

B) Which are four main ways to achieve economic growth? Understand 6 

C) Describe the Impact of Technology on Development? Analysis 6 

Q. 5 Solve Any Two of the following.    

A) What is Teamwork and what is the role of Project Manager? Understand 6 

B) Explain Humanitarian STEM Education? Understand 6 

C) Which appropriate technologies are used to help peoples? Remember 6 

 *** End ***  

 

Subject Code & Name:  BTHM605A_Y23  -  Development  Engineering



DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

End Semester Examination – Winter Supplementary-2023  

Course: B. Tech. Branch : Computer and Allied Engineering      Semester :VI 

Subject Code & Name:BTCOE605A_Y20  & Development Engineering 

Max Marks: 60         Date: 25 /01/2024     Duration: 3.00 Hr. 

 Instructions to the Students: 
1. All the questions are compulsory. 
2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 
3. Use of non-programmable scientific calculators is allowed. 
4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.    

A) Explain different methods to understand world poverty. (Understand) 6 

B) What is a timeline activity of development engineering? (Understand) 6 

C) What are the principles of humanitarian engineering? (Understand) 6 

    

Q.2 Solve Any Two of the following.    

A) Write short note on Engineers’ Roles: From Practice to Theory.       (Analysis) 6 

B) Define sustainable development and Describe key interconnected compo-
nents of sustainable development. 

(Application) 6 

C) Why Cross Cultural understanding is important to an engineer?  (Understand) 6 

    

Q. 3 Solve Any Two of the following.    

A) Discuss social justice as the objective of the Indian Constitution. (Application)) 6 

B) How the principle of equal treatment for equals serve the cause of social 
justice? 

(Application) 6 

C) Illustrate human fulfillment based on religious perspectives. (Understand) 6 

    

Q.4 Solve Any Two of the following.    

A) What are global health challenges? (Understand)  6 

B) Which factors affect access to primary education, poor attendance, drop-
out rates, and low rates of transition to secondary education? 

(Understand) 6 

C) What is the concept of social business? Describe any two examples of 
Social business. 

(Application) 6 

    

Q. 5 Solve Any two of the following.    

A) Explain how Blockchain can be used for humanitarian purpose. (Understand) 6 

B) Explain concept of participatory STEM education development. (Understand) 6 

C) Explain Concept of Community assessment. Describe community 
assessment methods 

(Understand) 6 

 *** End ***  



 



 
DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Summer Examination – 2023 

Course: T.Y. B. Tech.                Branch: Computer Engineering       Semester: VI 

Subject Code & Name: BTHM605A Development Engineering                                                                                  

Max Marks: 60         Date:22/07/2023     Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) Explain different definitions of development engineering. Remember 6 

B) Classify and explain income measure of poverty. Understand 6 

C) What is Humanitarian Engineering? Describe Why humanitarian 

engineering is important? 

Understand 6 

Q.2 Solve Any Two of the following.   12 

A) Explain the Human Development Index (HDI) in detail. Understand 6 

B) Explain why Cross-Cultural understanding is important? Understand 6 

C) Explain the role of Engineer in society? Remember 6 

Q. 3 Solve Any Two of the following.   12 

A) Describe principles of catholic social doctrine. Understand 6 

B) What is freedom? Define public reasoning and explain why it is important to 

justice.  

Understand 6 

C) What is social justice; explain the concept of social engineering? Remember 6 

Q.4 Solve Any Two of the following.   12 

A) What is the Impact of Technology on Development? Analysis 6 

B) What are global health challenges? Analysis 6 

C) Generalize the view whether humanitarian engineering is a helping 

profession. 

Understand 6 

Q. 5 Solve Any Two of the following.   12 

A) Explain Humanitarian STEM Education? Understand 6 

B) Review the concept of Block chain and Social Development. Analysis 6 

C) What is Teamwork and what is the role of Project Manager? 

 

Understand 6 

 *** End ***  

 



                                                                                                                                                                                DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Regular End Semester Examination – Summer 2023 

Course: B. Tech.                     Semester : VI 

Subject Code & Name:  BTCOE605(A)/BTHM605A Development Engineering                                                                                 

Max Marks: 60         Date:21/07/23                          Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. Draw neat diagram wherever necessary. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) What is organization? Explain types of organization in the development 

engineering ecosystem? 

Remember 6 

B) Explain  timeline activity of development engineering? Understand 6 

C) What is development engineering? Where did development engineering  

started?                                                                                                                                                                                                                                                                                                                                                                    

Analysis 6 

    

Q.2 Solve Any Two of the following.   12 

A) What is Sustainable Development, explain with example? Remember 6 

B) What is poverty? Explain types of  poverty in India? Understand 6 

C) Explain the role of Engineer in society? 

 

Understand 6 

    

Q. 3 Solve Any Two of the following.   12 

A) Why social justice in engineering is essential for sustainable development? Understand 6 

B) What are the elements of  religion, explain different functions of religion? Analysis 6 

C) What is social justice? Explain the concept of social engineering? Remember 6 

    

Q.4 Solve Any Two of the following.   12 

A) Explain different Technologies used in Global Health schemes? Understand 6 

B) What is the Impact of Technology on Development? Remember 6 

C) What are the different development strategies? Understand 6 

    

Q. 5 Solve Any Two of the following.   12 

A) What is Teamwork and what is the role of Project Manager? Understand 6 

B) What is Blockchain and Social Development? Understand 6 

C) Explain Humanitarian STEM Education? Remember 6 

  

*** End *** 

  

 





 

                                              

Duration: 3  Hr.Date:23-01-24Max Marks: 60

 

 Instructions to the Students: 
1. All the questions are compulsory. 
2. Draw neat diagram wherever necessary. 
3. Use of non-programmable scientific calculators is allowed. 
4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.    

A) What is IoT? Explain its characteristics and application of IoT. 06Application

B) What are the biggest challenges for IoT adoption? 06Understand

C) Explain with neat diagram different IoT communication models. 06Remember

    

Q.2 Solve Any Two of the following.    

A) Explain communication criteria for an IoT platforms. 06Understand

B) What is actuator? Give classification of actuators. 06Analysis

C) Explain leading types of IoT wireless technologies. 06Understand

    

Q. 3 Solve Any Two of the following.    

A) List and explain key advantages of Internet protocol (IP). 06Understand

B) Describe Message Queuing Telemetry Transport Protocol. 06Understand

C) Explain supervisory control and data acquisition. 06Understand

    

Q.4 Solve Any Two of the following.    

A) What is machine learning? Explain types of machine learning categories. 06Remember

B) What is Edge analytics? Describe Edge Analytics Core Functions. 06Understand

C) Explain Massively Parallel Processing Shared-Nothing Architecture. 06Understand

    

Q. 5 Solve Any Two of the following.    

A) Explain smart city IoT architecture with a neat diagram. 06Understand

B) Explain smart city security architecture with a neat diagram. 06Understand

C) Discuss an IoT Strategy for Smarter Cities. 06Application

 *** End ***  
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  Supplementary - Winter 23

Course: B. Tech.   Branch :  Computer Engineering/Computer Science & Engineering

Subject Code & Name:  BTCOE604 (B)_Y23  Internet of Things                           Semester :VI



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Summer Examination – 2023 

Course: B. Tech.     Branch : Computer   Science & Engineering                     

Semester :VI 

Subject Code & Name: BTCOE604B - Internet of Things                                                                                   

Max Marks: 60              Date:      /07/2023           Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) Differentiate between IT and OT networks.  (Understand) 6 

B) Draw and explain core IoT functional Stack. (Understand) 6 

C) Draw & explain IoT World Forum (IoTWF) Standardized Architecture. (Understand) 6 

    

Q.2 Solve Any Two of the following.   12 

A) Explain different types of sensors. (Remember) 6 

B) Explain components of smart objects. (Understand) 6 

C) Describe various Communications Criteria. (Understand) 6 

    

Q. 3 Solve Any Two of the following.   12 

A) Explain Key Advantages of Internet Protocol. (Remember) 6 

B) Discuss Message Queuing Telemetry Transport (MQTT). (Understand) 6 

C) Illustrate any two techniques of IP Optimization for IoT. (Application) 6 

    

Q.4 Solve Any Two of the following.   12 

A) What is HDFS in Hadoop? Explain namenode and datanode. (Understand) 6 

B) What is Machine Learning? Explain the role of Machine Learning in IoT. (Understand) 6 

C) What is Edge analytics? Describe Edge Analytics Core Functions. (Understand) 6 

    

Q. 5 Solve Any Two of the following.   12 

A) Illustrate basic structure of Arduino programming with LED blink program? (Application) 6 

B) What is Raspberry pi? Draw hardware layout of raspberry pi. (Remember) 6 

C) What is Temperature Sensor? Draw interfacing of any one temperature 

sensor with Arduino with code. 

(Remember) 6 



 *** End ***  

 



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Regular End Semester Examination – Summer 2022 

Course: B. Tech.                               Branch :  Computer Science & Engineering                              

Semester : VI 

Subject Code & Name: BTCOE604B-Internet of Things                                                                                    

Max Marks: 60         Date:     Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Ma

rks 

Q. 1 Solve Any Two of the following.    

A) Differentiate between IT and OT networks. (Understand) 06 

B) Explain IOT and Digitization in detail. (Understand) 06 

C) Draw and Explain core IOT functional  Stack. (Understand) 06 

    

Q.2 Solve Any Two of the following.    

A) Explain different types of Sensors.  (Understand) 06 

B) What are Actuators? Explain in brief. (Remember) 06 

C) Explain in brief about IOT Access Technologies. (Understand) 06 

    

Q. 3 Solve Any One of the following.    

A) Write short notes  on Application Protocols for IOT. (Remember) 06 

B) Discuss Message Queuing Telemetry Transport.(MQTT)Protocol.  (Understand) 06 

C) Explain in brief about the need of optimization in iot. (Understand) 06 

    

Q.4 Solve Any Two of the following.    

A) What is Machine learning? Explain the role of Machine learning in 

IOT.  

(Remember) 06 

B) Explain in brief about OCTAVE and FAIR. (Understand) 06 

C) Write short notes on Securing IOT.  (Understand) 06 

    

Q. 5 Solve Any One of the following.    

A) What is Raspberry pi? Draw hardware layout of Raspberry pi. (Remember) 06 

B) Explain Smart city security architecture with a neat diagram (Understand) 06 



C) Explain Smart city IOT architecture with a neat diagram.  (Understand) 06 

 *** End ***  

The grid and the borders of the table will be hidden before final printing.    



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Winter Examination – 2022 

Course: B. Tech.            Branch :  Computer Science &Engineering          Semester :VI 

Subject Code & Name: BTCOE604B  Internet of Things                                                                         

Max Marks: 60         Date:     Duration: 3  Hr. 

 

 Instructions to the Students: 
1. All the questions are compulsory. 
2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 
3. Use of non-programmable scientific calculators is allowed. 
4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) Draw and explain layered architecture of IoT. Remember 6 

B) Explained four internet of things connectivity models. Understand 6 

C) Demonstrate the IOT Components with neat diagram. Analyze 6 

    

Q.2 Solve Any Two of the following.   12 

A) What do you mean by M2M in IoT. Illustrate the difference between IoT 

and M2M. 

Understand 6 

B) Define is sensor? State and explain different types of sensors. Understand 6 

C) Define smart object in IoT. Explain classification of smart object in detail. Understand 6 

    

Q. 3 Solve Any Two of the following.   12 

A) What are different communication modes in IoT? Understand 6 

B)  What is Network Optimization? Write network optimization importance . Remember 6 

C) Differentiate  between MQTT and COAP Protocol . Analyze 6 

    

Q.4 Solve Any Two of the following.   12 

A) What is Big data? What is the relation between Big data and IoT? What are 

the two types of big data? 

Understand 6 

B) Illustrate IoT security challenges and solutions. Create 6 

C) Describe risk assessment with OCTAVE . Analyze 6 

    

Q. 5 Solve Any Two of the following.   12 

A) Differentiate Raspberry with Arduino.  Analyze the features of Raspberry 
PI. 

Analyze 6 

B) Discuss in detail about Arduino with neat sketch.  Analyze 6 

C) Construct the Design of Smart home with Raspberry Pi and other hardware 

devices with neat sketch. 

Evaluate 6 

 *** End ***  
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============================================================ 

Instructions to the Students 
1. Each question carries 12 marks. 

2. Attempt any five questions of the following. 

3. Illustrate your answers with neat sketches, diagram etc., wherever necessary. 

4. If some part or parameter is noticed to be missing, you may appropriately 

    assume it and should mention it clearly  

_____________________________________________________________________ 

                  (Marks) 

 

Q.1.    a) Define Machine Learning and Enlist Applications of Machine Learning                            (4) 

 b) Differentiate between Supervised and Unsupervised Learning                                            (4) 

 c) List the issues in basic ID3 Decision Tree Algorithm.         (4) 

     Interpret the algorithm with respect to overfitting the data     

                 

Q.2.   a) Classify Fruit={Yellow, Sweet, Long} using Bayes learning , Data as given in table        (6)  

  

Fruit Yellow Sweet Long Total 

Orange 350 450 0 650 

Banana 400 300 350 400 

Other 50 100 50 150 

 

OR 

a) Predict the class of new data point x=1 and y=1 using K-NN algorithm 

 assume k=3            (6) 

 

x y class 

-1 1 - 

0 1 + 

0 2 - 

1 -1 - 

1 0 + 

1 2 + 

2 2 - 

2 3 + 
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b) Discuss Maximum Likelihood and Least Square Error Hypothesis.   (6) 

 

Q.3.   a) How does SVM works?         (6) 

 b) What is logistic regression? Differentiate between Linear and Logistic Regression (6) 

 

Q.4.   a) Explain the concept of a Perceptron with a neat diagram     (4) 

          b)  What is back propagation?         (4) 

            c)  Explain how to learn Multilayer Networks       (4) 

 

Q.5.   a) What is PAC learning model?  

                 Explain the sample complexity for Finite hypothesis spaces     (6) 

  b) Define and explain “Shattering a set of Instances” with suitable example.  (6) 

 

Q.6.   a) What is Hierarchical Clustering?  Consider following distance matrix and apply  

    hierarchical clustering to cluster the objects  u,v,w,x,y                                                      (6) 

 

 

 u v w x y 

u 0 1 2 2 3 

v 1 0 2 4 3 

w 2 2 0 1 5 

x 2 4 1 0 3 

y 3 3 5 3 0 
 

 

b) Given that the Observations are already clustered in two clusters C1 and C2   

as shown in  table          (6) 

          

Cluster C1 Cluster C2 

Obs. X1 X2 Obs. X1 X2 

A 2 4 C 9 3 

B 8 2 E 8.5 1 

D 1 5  

  

    Apply K-Mean clustering algorithm to find and Plot initial and final distribution of     

    observations in C1 and C2  

__________________________________  Paper End   _____________________________________ 
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 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Supplementary Summer Examination – 2023 

Course: B. Tech.                  Branch : Computer Engineering           Semester: V 

Subject Code & Name: Machine Learning  [BTCOC503]                                                                             

Max. Marks: 60         Date: 11/08/2023          Duration:03:00 Hrs. 

 

Instructions to the Students: 

1 All the questions are compulsory. 

2 The level of question/expected answer as per OBE or the Course Outcome (CO) on which the 

question is based is mentioned in ( ) in front of the question. 

3 Use of non-programmable scientific calculators is allowed. 

4 Assume suitable data wherever necessary and mention it clearly. 

  (Level / 

CO) 
Marks 

Q. 1 Solve Any Two of the following.   12 

A) 

a) Explain Linear Regression algorithm. 

b) Explain following terms with respect to linear regression: 

        1. Cost function 

        2. Gradient Decent 

1  

B) 
Explain different splitting techniques of decision tree. Explain the basic terminologies of 

decision tree. 
1  

C) 
What do you mean of under fitting? What are the different reasons of under fitting? How 

under fitting in model can be reduced. 
1  

    

Q. 2 Solve Any Two of the following.  12 

A) 

 

 

 

 

 

 

Solve the following problem to find out whether car is stolen or not using the Naive 

Baye’s algorithm. 

 

  

 

 

2  

B) Explain the features and types of Logistic Regression. 2  

C) Explain the working of the Support Vector Machine algorithm. 2  

  

 
  



Q. 3 Solve Any Two of the following.  12 

A) Explain the working of Perceptron with suitable diagram. 4  

B) What is backpropagation? Explain in brief. Also, discussed what are the needs of 

backpropagation. 
4  

C) Explain working of the multilayer network. 4  

    

Q. 4 Solve Any Two of the following.   12 

A) What is ensemble learning? Describe in detail the types of ensemble learning. 3  

B) Explain any one ensemble learning algorithm. 3  

C) Write note on Computational Learning Theory. 3  

    

Q. 5 Solve Any Two of the following.   12 

A) Explain the how K-Means Clustering Algorithm works? Explain the elbow method. 2  

B) What is unsupervised machine learning? Explain with suitable example. What is 

clustering? 
1  

C) Explain Hierarchical Clustering Technique and its types in detail. 2  

 *** End ***  

 



 
 

  

   

            

 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) 

on which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/Co) Marks 

Q. 1 Solve Any Two of the following.   12 

 a) Define Machine Learning and Enlist Future scope of Machine 

Learning with appropriate example? 

B1/CO1 6 

 b) Explain different types of learning using suitable real-world ex-

amples. 

 

B3/CO1 6 

 c) Explain Overfitting and methods to avoid Overfitting. B2/CO1 6 

    

Q. 2 Solve Any Two of the following.   12 

 a) Explain Naïve Bayes classifier with its advantages and 

disadvantages? 

B1/CO2 6 

 b) Define kernel functions and Kernel SVM. B2/CO2 6 

 c) Define the following- i) Probability Density Function. 

                                   ii) Probability Mass Function. 

 

B3/CO2 6 

    

Q. 3 Solve Any Two of the following.   12 

 a) What is Perceptron, what are the basic Components of the 

Perceptron. 

B6/CO3 6 

 b) Define back propagation and error function. B1/CO3 6 

 c) What are Types of Deep Learning Networks and enlist 

applications for it. 

 

B4/CO3 6 

    

Q. 4 Solve Any Two of the following.   12 

 a) Difference between PAC and PLC. B2/CO4 6 
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 b) Explain Unrestricted hypothesis space and Restricted hypothesis 

space. 

 

B5/CO4 6 

 c) Justify Solvable vs. Unsolvable Problems with Computational 

theory. 

B6/CO4 6 

  

 

  

Q. 5 Solve Any Two of the following.   12 

 a) How to choose value of “K number of clusters” in k-mean 

clustering. 

B1/CO5 6 

 b)  Define dendrogram and approaches hierarchical clustering 

technique.  

B4/CO5 6 

 c) Define Gaussian Mixture Model (GMM) and Maximum 

Likelihood Estimation with respect with GMM? 

B2/CO5 6 

                                                      *** End ***   

    

    

   

 



 DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE 

Summer Regular Examination – 2023 

Course: B. Tech.                 Branch :CSE/Computer Engineering                Semester : VI 

Subject Code & Name:    BTCOC603          Machine Learning 

Max Marks: 60         Date:17/07/2023     Duration: 3  Hr. 

 

 Instructions to the Students: 

1. All the questions are compulsory. 

2. The level of question/expected answer as per OBE or the Course Outcome (CO) on 

which the question is based is mentioned in ( ) in front of the question. 

3. Use of non-programmable scientific calculators is allowed. 

4. Assume suitable data wherever necessary and mention it clearly. 

 

  (Level/CO) Marks 

Q. 1 Solve Any Two of the following.   12 

A) Define machine learning. Explain its common areas of applications. (Remember) 6 

B) Describe working of decision tree with suitable example. (Apply) 6 

C) State the purpose of confusion metrics. Elaborate various terms 

associated with it. 

(Understand) 6 

    

Q.2 Solve Any Two of the following.   12 

A) State Bayestheorem. Demonstrateit with suitable example. (Apply) 6 

B) With respect to SVM explain the terms: 1. Hyperplane 2. Maximum 

Margin Hyperplane (MMH) 3. Support Vector. 

(Understand) 6 

C) Differentiate between linear and non-linear SVM. (Analyze) 6 

    

Q. 3 Solve Any Two of the following.   12 

A) Compare between Biological Neural Network (BNN) and Artificial 

Neural Network (ANN). 

(Analyze) 6 

B) Explain reinforcement learning in Artificial Neural Network (ANN). (Understand) 6 

C) Describe feedforward and feedback neural network with proper 

diagram. 

(Understand) 6 

    

Q.4 Solve Any Two of the following.   12 

A) Explain concept of VC dimensions with example. (Remember) 6 

B) Discuss Ensembled Learning. State applications of ensembled learning. (Understand) 6 

C) Describe terms: Bagging, Boosting and Stacking. (Understand) 6 

    

Q. 5 Solve Any Two of the following.   12 

A) Explain clustering with example. State need of clustering. (Understand) 6 



B) State the working of K-means clustering algorithm.  (Remember) 6 

C) Differentiate between Agglomerative and Divisive hierarchical 

clustering. 

(Analyze) 6 

 *** End ***  

 


